ECG 1a Calcul mental - ceinture jaune - A Feuille n°1

1. Calculer et simplifier v/20 x v/4
2. Simplifier

a. V12 b. V162
3. Calculer et simplifier
a. (-3v5+4V7) (-3v5 - 4v7) b. (—6v11+2) (—6v11—2)
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1. Calculer et simplifier v/20 x V4
2. Simplifier
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1. Calculer et simplifier v/20 x V4
2. Simplifier

a. V12 b. V162
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1. Calculer et simplifier v/20 x V4
2. Simplifier

a. V12 b. V162

3. Calculer et simplifier

a. (—?MB + 4\f7> (—3@ _ 4\f7> b. (—6\/ﬁ + 2) (—Wﬁ _ 2)



Correction

. Calculer et simplifier v20 x V4 = 4v/5

2. Simplifier

a. V12=2x 3 b. V162 =9 x V2
. Calculer et simplifier

a. (—3\/5 + 4\f7> (—3\/5 _ 4\f7> — 67 b. (—6\/ﬁ + 2) (—6\/ﬁ _ 2) — 392

Correction

. Calculer et simplifier v20 x V4 = 4v/5

. Simplifier
a. V12=2x V3 b. V162 =9 x V2

. Calculer et simplifier

a. (—3\/5 + 4\f7> (—3\/5 _ 4\f7> — 67 b. (—6\/ﬁ + 2) (—6\/ﬁ _ 2) — 392
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Correction

. Calculer et simplifier v20 x V4 = 4v/5

2. Simplifier

a. V12=2x 3 b. V162 =9 x V2
. Calculer et simplifier

a. (—3\/5 + 4f7> (—3\/5 . 4f7) — 67 b. (—6\/ﬁ n 2) (—6\/ﬁ . 2) — 302



